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int socket(int family,int type,int proto);
int sock;

sock = socket(PF_INET, SOCK_DGRAM,0);
if (sock<0) { /* ERROR */ }
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ssize_t sendto (int sock, const void *msg, int len, unsigned flags
const struct sockaddr *addr, int addrlen)

Ex: HAXIE St HE

Hizh 2h: A3 Al MSE HO|E &=, 4If] A -1
» sock: AAIO| I CIAFEIE, UDP A&

» msg: M&ES X St= HO|HE XNl =2 H I
> len: 2 O|O|EH 2| A 7|

» flags: M (LHIE O = 0)

> addr: MASI IR SHe SAEQ| AH =A XK
» addrlen: 2734 A XK|(addrne| A 7|




UDP 7|2to] H|O|E| S B (2)

ssize_t recvfrom (int sock, const void *buf, int len, unsigned flags
struct sockaddr *addr, int *addrlen)
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#define BUFSIZE 30

int main(int argc, char **argv)
{

int serv_sock;

char message[BUFSIZE];

int str len;

struct sockaddr in serv_addr;
struct sockaddr in clnt addr;
int clnt addr size;

serv_sock=socket (PF_INET, SOCK DGRAM, 0);
memset (&serv_addr, 0, sizeof(serv_addr));
serv_addr.sin family=AF INET;
serv_addr.sin_addr.s_addr=htonl (INADDR ANY) ;
serv_addr.sin port=htons(atoi(argv[l]));

if (bind(serv_sock, (struct sockaddr*) &serv _addr, sizeof (serv_addr))==-1)

error handling("bind() error");

while (1) {
clnt addr size=sizeof (clnt addr);

str len = recvfrom(serv_sock, message,

&clnt addr size);

sendto (serv_sock, message, str len,

close (serv_sock);
return 0;

0,

BUFSIZE, 0, (struct sockaddr*)&clnt addr,

(struct sockaddr*)&clnt addr,

sizeof (clnt addr));
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#define BUFSIZE 30

int main(int argc, char **argv)
{

int sock;

char message[BUFSIZE];

int str len, addr size;

struct sockaddr in serv_addr;
struct sockaddr in from addr;

sock=socket (PF_INET, SOCK DGRAM, O0):;

memset (&serv_addr, 0, sizeof(serv addr));
serv_addr.sin family=AF INET;
serv_addr.sin addr.s addr=inet addr(argv[1l]);
serv_addr.sin port=htons (atoi(argv[2]));

while (1)
{

fgets (message, sizeof (message), stdin);

if (!strcmp (message, "g\n")) break;

sendto (sock, message, strlen(message), 0, (struct sockaddr*)é&serv addr, sizeof (serv _addr));
addr size=sizeof (from addr);

str len = recvfrom(sock, message, BUFSIZE, 0, (struct sockaddr*)s&from addr, &addr size);

message[str len]=0;

printf (“from server: %$s", message);
}
close (sock) ;
return 0;
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